Questions

Q1.

Diagram NOT
accurately drawn

B, C and D are points on the circumference of a circle, centre O.
BOD is a diameter of the circle.

AO=T7cm  Angle 4ABO=90°  Angle O4B=35°  Angle DBC =70°

*(a) Explain why angle BCD is 90°

2
(b) Cfalculate the length of BC. o | y = 2 %A .0iS cos 7O ° -9 TS o
Give your answer correct to 3 significant figures.
S1w3s® < x 6C ..... T, 2'7r ...... cm
=

A= 7s5m3s® = 4.01F

(Total for question = 5 marks)

Q2.



Diagram NOT
accurately drawn

90 - x +t9-rﬁo—%_ = (g0
Av\.j\.e.s 6 « géra\fSL(— lcne

z
& = x 9
2
P, Q, R and S are points on the circumference of a circle, centre O.
APB, BQC, CRD and DSA are tangents to the circle. = o +
ABCD is a kite. g PO & —9;

Angle PAS = 2x°
Angle QCR = y°

Find an expression in terms of x and y for the size, in degrees, of the angle POQ.
Give your expression in its simplest form.
Give reasons for your answer.

(Total for question = 5 marks)

Q3.

Diagram NOT
accurately drawn

LABC = 46° (£ in S‘&‘;L,_)
4 A€.G = IDAC (Vﬂrk‘ sre
<5 ¢iuas)

2 REE = §¢° (4 Sow a'éd)
Z CB) = 3S° (‘\o-cﬂfsf)

A, B, C and D are points on the circumference of a circle, centre O.
AC is a diameter of the circle. o
AC and BD intersect at E. Z Dac = 3§

Angle CAB = 25° ( LS5 \q Sawme Scshg.‘{')
Angle DEC = 100°




Work out the size of angle DAC.
You must show all your working.

(Total for question = 4 marks)

Q4.

Diagram NOT
accurately drawn

B
A, Band Dare points on the circumference of a circle, centre O.
BODis a diameter of the circle.

BCand ACare tangents to the circle.

Angle OCB= 34°.

- o ~ _ C
Work out the size of angle DOA. L DoA = g Lgy4 iy

. doA ~ (8’

(Total for Question is 3 marks)



Q5.

Diagram NOT
accurately drawn

Sand Tare points on the circumference of a circle, centre O.
PTis a tangent to the circle.
SOPis a straight line. Z T so = X

Angle OPT= 32° ( Base <8 oF oS a)

Work out the size of the angle marked x. & Pro = 94 ( ot ~ra Acos )

Give reasons for your answer.

X4 2 +904+32 = I%o (L.ruma'(‘a)

25 + 122 = (%O
21 = (8d— (2720
2x = SE

x = 29°

(Total for Question is 5 marks)

Q6.



D C
g 20 Diagram NOT
accurately drawn
1800 .

£ V08 = Jao
o (L Sum ok 104&'{)

40° 750 eDck= 70

A B E

(L ad cenbe {—w‘cke

B, C and D are points on the circumference of a circle, centre O. 2 ok cireew Ag,<_¢¢)
ABE and ADF are tangents to the circle.

L oBc=15°
Angle DAB = 40° .
Angle CBE = 75° ( eson sbe line)
Work out the size of angle ODC.
Quair lobemn | AdC(S Lod = @ = 5§
40 40 +F +710 +1§ +40 = 3¢o (Total for Question is 3 marks)

(9 = 30 -305 = §5°
Q7.
Diagram NOT

accurately drawn

€

LAY = So°
(L Sun o€ A)

¢CEED = 2¢°

l_ o d- LI'J"

D

*B, C and D are points on the circumference of a circle, centre O. (4 “
ABO is a straight line.

AD is the tangent at D to the circle. S
Angle DAO = 40° B¢y = \'SS

ofe &S ot 43""‘ g vacd
nAA h (Ro®



Work out the size of angle BCD. o
Give a reason for each stage of your working. Z @( D = ) s

(Total for question = 5 marks)

Q8.

Diagram NOT
accurately drawn

l 0AT = 45°

'8\ (4“34"".#0.4&((1:\)
L0AS = 32°

G CoBé = 32°

- 41°

4 T (ba.fc cs od fSoSA)

c A8+ = €1°
(c som o S AT )

11

A and B are points on the circumference of a circle, centre O.
AT is a tangent to the circle.
Angle TAB = 58°.

Angle BTA = 41°. ZoBT = X2 +XI

Calculate the size of angle OBT. loRr+ < 113 °

You must give reasons at each stage of your working.

(Total for Question is 5 marks)

Q9.



Diagram NOT
accurately drawn

/ ABC =S¢’

C e | ternete Sgshgu’f
t\-\u.r-cu,_)

s = 1R0-56- 75

o
| | | >x = 41
A, B and C are points on the circumference of a circle.
The straight line PAQ is a tangent to the circle. ( Z. fu i of 4>
Angle PAC = 56°
Angle ACB = 75°

Work out the size of the angle marked x.
Give reasons for each stage of your working.

x:4_‘fo

(Total for question = 3 marks)

Q10.

Diagram NOT
accurately drawn

Z BReo = ?0(&35-\'“!;33 Z MR = 770
(LSUH ok {o«d)

Bhc = [Ro ~-Co -0

£ B8ac = S6°
CL Sve~ of é)

P C

M, N and P are points on the circumference of a circle, centre O.
AMB, BNC, and CPA are tangents to the circle.




Angle MON = 110°
Angle BCA = 60°

Work out the size of angle BAC.
Give reasons for each stage of your working.

(Total for question = 4 marks)



